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6z (HETH#4  |#8A0 |75l LA g6z |THETH4  |#8AO  |75mulEAD
(N) (N) [ (AN) (N) teE=
(B/A) (B/A)
A B % A B %

EE i 10,654 2,728 25.6 46|12 SHT 5,052 995 19.7
2| & FHET 2,530 625| 24.7 47|3= 7| BT 3,049 596| 19.5
3|1=% 10,189 2,448 240 48|70 EER AT 1,137 222 195
4|1 EHT 5,160 1,225 237 49| PR BT 8,041 1,563 19.4
5|t E AT 1,033 245 237 50| Z= FTHT 6,254 1,210/ 19.3
6| L&D )I|ET 3,890 916| 235 51[it&ET 2,839 546 19.2
7| ERNT 4,361 1,004 230 52| 2 LEHT 3,552 683| 19.2
8| St 1,831 408| 22.3 53|/NEHT 3,655 699 19.1
9| FI A E L HT 2,887 643| 223 54| 1R ET 5597 1,070/ 19.1
10(;%& AT 3,041 672 22.1 55| 7% Bl BT 2,411 460| 19.1
11|FOFEHET 3,875 856 22.1 56 [{— AHT 3,769 719 19.1
12| Fk32 AI| BT 2,745 602 21.9 57 |;th EHET 7,656 1,459 19.1
13| & FHr 3,359 736 21.9 58|14 = 1 BT 5,831 1,110[ 19.0
14[;EEIHT 2,229 484 21.7 59| & HHET 4,459 842 18.9
15| AR ey NHET 5,150 1,116 21.7 60| E{ZHT 5976 1,120| 18.7
16 |2 71| BT 5,684 1,231 21.7 61|FEEmT 2,866 536 18.7
17( R 5 ERET 6,314 1,364| 216 62 | B8 L ET 5,350 996 186
18|t ZEHT 2,197 474 216 63| [EEHT 4,858 901 185
19| F| L BT 2,422 519 214 64| #L 3CHT 2,971 551 185
20| % I BT 3,341 713 21.3 65| & ZFET 7,707 1,429| 185
21| JIET 3,654 775 212 66| Z ERHT 4,384 810[ 185
22|85 FHT 3,705 782 21.1 67|EBEET 10,921 2,015 185
23| =72 BT 9,564 2,008| 210 68|E Al BT 10,028 1,850 184
yZA RS 1,411 296| 21.0 69|/ = B FrHT 2,852 525| 18.4
25| EHITET 3,585 749| 209 70|EMEH 25,739 4736 184
26| 5 Al 16,703 3,478| 208 | Bt 2,196 404| 184
27| L JIET 4213 876| 20.8 72[iF)ITH 23,534 4307| 183
28| 1k E A HT 3,534 726| 205 73| A B BT 8,265 1,497 18.1
29 ;3 HHAT 3,607 739 205 74| ;R &R A BT 10,037 1,805 18.0
30| &1l BT 3,607 739 205 75| R HT 4513 811| 18.0
31| FEH 12,375 2,535 205 76 | 3l F A BT 5526 983| 17.8
32|;a%t 1,896 388| 205 77| F1SHET 6,635 1,174 177
33| A fiZHT 3,810 778 204 78| B R HT 3,152 557 17.7
34| tbF T 4,155 843 203 79| Al 21,804 3,848 17.6
35| #RET 3,358 681| 20.3 80| _E -1 HT 5,143 904 17.6
36| B HAPIHET 3,197 648 20.3 81|t /EIfT 5,861 1,030 17.6
37| S HE R BT 1,978 397| 20.1 82|/INEIKHET 5,407 9471 175
KEE:) 5,010 1,003| 20.0 83| LLIET 13,326 2,318 174
39| B iR AR ET 4,504 901| 20.0 84| #R{LLET 5,102 885 17.3
40|15 70 PN BT 1,702 340| 20.0 85| AT 9,607 1,665 17.3
41| B BI| BT 2,700 536| 19.9 86|12 )BT 7,154 1,234| 172
42| 5 &0 6,036 1,197| 198 87| FriEEA 3,537 609 17.2
43| 24 FRET 7,173 1,420 198 88| T ABRET 3,390 582 17.2
44| 1| BT 1,827 361| 198 89| R HT 21,069 3582 17.0
45| ¥AHITET 9,050 1,787 19.7 90|Fb )1l Th 18,897 3,187 16.9




6z (HETH#4  |#8A0 |75l LA g6z |THETH4  |#8AO  |75mulEAD
(N) (N) [ (AN) (N) teE=
(B/A) (B/A)
A B % A B %

91| = B EFHET 5,546 933 16.8 136|434 B AT 12,634 1,790| 14.2
92| KZEHT 8,082 1,349| 16.7 137|EREH™ 24,075 3,406 14.1
93| R4t HT 5,983 995| 16.6 138|FT U= HVET 25,354 3575 14.1
94| ;= E2HT 22,179 3,680 16.6 139|=tfT 4,698 659 14.0
95(/M8Th 131,444 21,758| 16.6 140|BKEE™T 279,515  39,042| 140
96|;5 7K HET 10,187 1,680| 16.5 141| £ 8RET 28,926 4025 13.9
97| X1 HT 5,134 838 16.3 142| 8B 8ATh 24,339 3,374 139
98| B EHT 19,359 3,156 16.3 143 |5 BT 13,974 1,921| 137
99| it L ET 4777 777| 16.3 144|EE B HET 5674 776| 13.7
100| %2 BT 8,878 1,439 16.2 145|781 43,313 5920 13.7
101 | ER BT 5,640 912 16.2 146|Z. YT 5,380 735 13.7
102| B #RET 9,472 1,523| 16.1 147| &R 51,872 7,015 135
103|;TZHT 8,846 1,421 16.1 148|h #L A Ff 4,086 546 13.4
104 |88 F&B4 1,983 317 16.0 149| L E B F7HT 11,838 1,577 133
105| XS HT 3,585 571] 15.9 150|db R 124898 16,177 13.0
106| &8 11,876 1,877| 158 151|7B)IITH 352,083 45061 12.8
107 FOET 6,580 1,036 15.7 152|#R=Eh 29,240 3,728 127
108|#r 7 BT 5,837 911| 15.6 1533z L% 2,793 350| 125
109| 5@+ 1,149 179 15.6 154 | 15 FE AT 2,651 332 125
110|125 HT 8,385 1,305 15.6 155| 5 3l BT 27,515 3439 125
111 0% ET 6,599 1,027 156 156 24 71 BT 18,436 2,298 125
112|ZRHET 17,795 2,748 154 157|422 0T 5,752 708 12.3
113|2F 4,386 675 15.4 158 | m IR AT 8,636 1,055| 12.2
114| 7R F)1FF 1,205 185 15.4 159[#@E™ 38,947 4744 122
15|F&h 36,654 5613 15.3 160|#IE& 183,718 22,077 120
116|[E =87 10,634 1,625 15.3 161|#EAT™ 38,362 4603[ 120
117|56FJEET 8,247 1,255 15.2 162| BE AR ET 4514 540 120
118| A+ 3,394 516| 15.2 163|355 = M7 19,374 2,315| 11.9
119| B S HT 13,722 2,078 15.1 164 | 5R #HZEET 9,642 1,088| 11.3
120| 4% SE 0T 9,095 1,376] 15.1 165/ Al = ET 16,055 1,809 11.3
121|[5ERT 8,002 1,210 15.1 166(dt 3 49,031 5521 11.3
122| A RHT 14,764 2,217 15.0 167| ¥ EI 8T 5,952 670[ 11.3
123|117 7,894 1,185 15.0 168|;I Rt 121,695  13,559| 11.1
124| B BT RE AT 850 126 148 1695 EHT 45,693 5,090 11.1
125|850 R1TH 24,468 3,627| 148 170|535t 168,492| 18,480| 11.0
126(/\ZEHT 18,793 2,771 147 171|B¥FH 60,717 6,608| 10.9
127|Z=@™ 94,049 13,805 14.7 172[{B 5% BT 15,353 1,666 10.9
128| £ 1IRHET 21,541 3,136| 14.6 173|FERE™ 68,938 6,881| 10.0
129 | B ERET 4,250 618| 145 174|tIE & 60,534 6,010 9.9
130|&&F ™ 30,164 4352| 144 175 & /h&h 174,022 17,203 9.9
1315 RRM 89,585 12,889 14.4 176|AL1RH 1,904,615| 187,915 9.9
132 | ;48 Al BT 4,057 579| 14.3 177|PAZ;EET 24173 2,246 9.3
133 | FEARAT 7,472 1,065 143 178 |8 p& BT 20,840 1,846 8.9
134|;E R ET 6,565 932 14.2 179[F&™ 94,250 7479 7.9
135|858 B4 2,537 360| 14.2 deiiEst | 5500523 681,724 124




